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Section : General Intelligence and Reasoning

Q.1 I Y=Y BT TG SO RraH W= oy § I3 weR Safta § o vor fafafad
Tl I WIS | T& i B
(Fite: TEms ® TP g il # fauifora forg famn, yof wemait w nivrdig dferans #t
ST TR | ITeRVT & Y 13 - Kty Aferant S % SisAIge AN ST 3fs 13
# fpar ST gwar 21 13 B 1 3R 3 H fauTira &= iR fibe 1 3k 3 W nfdrdta dframg
FX P Al T B 1)

(5:25:30)
(16 : 256 : 272)

Ans X 1.(19:361:381)
X 2. (15: 225 : 230)
« 3.(13:169: 182)
X 4.(9:81:109)

Question ID : 26433074554
Status : Answered
Chosen Option : 3

Q.2 I faeq &1 T Y o At e @ I UeR S § o veR ugelt We gt
T A 3R uiEd] T@ wdl e 4 dafta 21
729:90::?:56::512:72
Ans X 1.352
o 2.343
% 3.323

X 4.335

Question ID : 26433069097
Status : Answered
Chosen Option : 2

Q.3 fomfafaa doft # wafe (2) % A R 19 @ wEm s
729,243, 7,27,9,3

Ans 7 1.81
X 2.78
X 3.54
X 4.36

Question ID : 26433067590
Status : Answered
Chosen Option : 1




Q4 ww?mmaﬁm S Ster I WY FT FAREqor Ha1 7Y, o Hay oy e sy
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Ans X 1.3 ufgan
o 2. Tyafedy : wfeay
X3.W:ﬁ?§
X 4. A B

Question ID : 26433090235
Status : Answered
Chosen Option : 3

Q.5 Te FAfd ge Ut #, "OXYGEN' &Y 'QZAIGP" f@T ITaT & 3R *MIND® %1 'OKPF* forar
T 8, I HTHT § 'DOCTOR' H $ forar siam?

Ans X 1.EQEVQT
« 2. FQEVQT
2 3.FQEUPS
< 4. EQDUPS

Question ID : 26433067764
Status : Answered
Chosen Option : 2

Q6 FRA+BHTIIZF A BB A, A-BHTASRF A, BHTRTR, A+BHT A R
Q:A,Bﬁm%,aﬁm@aﬁﬁﬁqmmuaﬁwﬁam%ﬁmRaﬁuTaT
Ans X 1.Q+P-R
¢ 2.P+Q+R
X 3.P+Q-R
X 4P-R+Q

Question ID : 264330104961
Status : Answered
Chosen Option : 2

Q.7 I favey &1 997 B3 &l T G©r 4 S0 ver G6iia § o der gad) 'ern ugedt
eI A 3R B3 Fen uiadl HEn @ Salka 21
17 : 4607 ::11:? :: 23: 11615
Ans 7 1.1199
X 2.1572
X 3. 1440

< 4.1463

Question ID : 26433068374
Status : Marked For Review
Chosen Option : 4
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Y
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.5 3, 4

X 1. Pad By 111 3TER BT §
2 2,13 11 ST P SreRer a8
o 3. Paq Y || STERT BT §
X 4. i Fpy SRR e aRaT §

Ans

Question ID : 264330104940
Status : Answered
Chosen Option : 3

Q9 fFufafad & A #-ar seR-agg & 718 Saar A uy-fig (7) # ufawnfia same
WNM, ULO, SJQ, QHS, ?

< 1.PFS
X 2.PGT

Ans

« 3.0FU
X 4.0GU

Question ID : 26433057988
Status : Answered
Chosen Option : 3

Q.10 3l quinTen vy # fRufa & snur w, Fafifaa & @ 09 eer-ae B 9 ol vor

| TP UM & 3R TP 3RATT 8| SRATH 3H&R-HE BT I B3|
Ans 7 1.ZWSQ
< 2. JHDB
X 3. PNJH

25 4. TRNL

Question ID : 26433065665
Status : Answered
Chosen Option : 1

Q.11 sHUY ¥ &9 HY AT 7T §, oS a1 9 e 1, 1 3R 1 few e §1 Sy v I
T §Y, U € 3 Tdra ax | i wedta g 8, fAivka Sifg 6 s fAreed syt

BT dlfdhes TY | STHIU BT &/3TEVT Hd g
DY
T fopare 9 &1
o IR T I
W T s B
o
. $3 9s IR §1
. Jeft 9 frard €1
. $B WS I
X 1. e rgER R §
o 2. Had 5B | 3R 111 STERU B &
X 3. Fad fIspy 11 3R 111 STER R § 1

X 4. Had B | 3TR 11 SFERUT B B

Ans

Question ID : 26433070400
Status : Answered
Chosen Option : 2
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9 g Far femg e

Ans

®
| Ve
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.
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Question ID : 26433080559
Status : Answered
Chosen Option : 4

Q.13 gq“waﬁﬁammaﬁaﬁwmﬁw,ﬁumﬁﬁﬁqmmww

+qYT %, 1941 3
Ans S 1.4x3-1+8:2=9
X 25-8x3+9+1=24
X 3.6+4-9x3+1=-17
X 4.6+3-1+4x2=5

Question ID : 264330105143
Status : Answered
Chosen Option : 2




Q14 Ag BRI R H A BB T &
A#BHTAfEF A BRI
A@B®HAIEfF A BRI
A%BHIATRfF A BITURE
A+BHIAYETH A BB HI R
fGA&B#C&D@E %F + G §, @ D, G 9 fry v Tafta 82

Ans X 1.2
X 2w
o 3.8
X 4. fuar

Question ID : 26433065963
Status : Answered
Chosen Option : 3

Q.15 wﬁfémi»;emmﬁ' 'STAR' F1'92678' & &Y | Heaw a1 1aT § 3R 'FLAG' &t
'20261521 U ¥ geds fHar wrar g1 3 U # 'LOGO" F) f5H UbR Heas far
Ans x 1.12221214
< 2.12201325
% 3.15122012
o 4. 12201215

Question ID : 26433067334

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

Q.16 & WA 3 HEmal B AU F WER Fee W Frafif@d § @ B a1 afieor wd gme
7auT4

Ans X 1.4x3+7-9+3=20
X2.7+4x2-6+2=17
& 3.4-7+6+2x3=12
X 47+5x2-4+1=9

Question ID : 264330105095
Status : Answered
Chosen Option : 3




Q.17 I IUFT SAC-HE F TAT H S T anplo-efEer # qeafaga (7) ¥ wuw W oame?

RISOIK] -

Ans

Question ID : 26433066045

Status : Answered

Chosen Option : 2

Q.18 3 faw T uy §, IR HEm g Y T ¥ S g H () F Rt iR § 1 wwwm () &
orfY 3R &Y TS S | Pt adb/fFramiEy @ et 31 519 3w S v adb/famRidy
F YR W IAHE 7| fag ¢ faeeat & @ faww &1 g §: wemnsi ot 376 s
il | fyufora farg famm, gof it wr wiftrart Freafea @1 @t @ifde) Ierewor 13-
13 IR GipaTd 9 ok 13 & Stg-T/"er Ao manﬁ%mmm%naﬁwﬁwﬁ
g 3R R fhv 1 aﬁvswnﬁlﬁHWW%aﬁamﬁrqﬁ%)

Ans X 1.18-76
& 2.12-50
X 3.10-44
X 4.8-36

Question ID : 264330105067

Status : Answered

Chosen Option : 2

Q.19 I AT T 99 DY Wl Uigd HER-TYE § I UHR Ve 2 o UpR gaRT 3Her-
T U EGR-TE A Haftra § 3R T 3igR-Tg FIY HeR-Tg & "efda g1
AREA : BRFA :: BABY : CACY :: GOLD : ?

Ans X 1.I0MD
« 2. HOMD
< 3. HOME
X 4. HOND

Question ID : 26433068509

Status : Answered

Chosen Option : 2




Q.20 U 3rgepd foam man @, o & veb uq g 21 fay e fapedt # & a5 wet fiwew gfg, st
SIHH B R Y
TMT, ZOB, FQJ, LSR, ?

Ans X 1.RzZQ
X 2.RYO
< 3.RzZO
& 4.RUZ

Question ID : 264330104802
Status : Answered
Chosen Option : 4

A2 ot 3 ot B ¥ 3R MN' R @ @, R e @iee & gae
T guuT wfafeT & == w1
M
rts5f7w
N
Ans X1 wvNiatr
X2 Y151
X3 wvieta
v+ w\ten

Question ID : 26433068205
Status : Answered
Chosen Option : 4




Q.22 T feeg ool o1 70 BT o &1 778 ST (x) T HIT  FY F U §S © (AT o AR @
EGEIRE I

K

Ans

—
v ar <
X 2.
X3
x4

Question ID : 26433068897

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q23 57 sgfy #1 T97 S FEA AFIA-YFT F TARES (?) F T T HTA?

b T =l
¢ ¢ K

AnsEQ
<
A w
<
X =
S
4 =2
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Question ID : 26433083105
Status : Answered
Chosen Option : 4

Q.24 I fAPey F1 994 DI Y T 1T Mgl & 39 TS A &l Aea prar g R su A
3N AR H 3ma §l
1- Accusable
2- Acerbity
3- Accursed
4- Acetify
5- Accuser

Ans X 1.1,3,5 24
X 2.1,3,5,4,2
& 3.3,1,524
X 4.3,1,5,4,2

Question ID : 26433079444
Status : Answered
Chosen Option : 3




Q.25 Fufafaa wiez o A $37 & g fawel § ¢ 1€ {5 3 demnsi o weR

TG gRI?
72+(7%8)-(126+14)—(4)2=150

Ans X 1.72 3R 126
X 2.73R4
X 3.83R4
& 4. 143R7

Question ID : 26433069208
Status : Answered
Chosen Option : 4

Section : General Awareness

Q1 YR & AU FT P A1 3wde T8 S0 HRdl § % g § sy & ar s &
foar smem?

Ans X 1. 3J®G 122

X 2. 3T™G 121

X 3. 3fF=5a 119

o 4. T 120

Question ID : 26433064724

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.2 fFfifed & 9 fFa ad HRa & yge YT gars T8 62
Ans 7 1.1853
5 2.1854
/X 3.1855
5 4.1852

Question ID : 26433089223
Status : Answered
Chosen Option : 1

Q.3 1600 ¥, % a1 Hu- 7 5T IF | AR el [par?
Ans X 1 fH ek

X 2. T S

X 3. @1 faaeifan

o 4. D Uierea-|

Question ID : 264330105549
Status : Answered
Chosen Option : 4

Q4 fydar 2022 F, BI¢ A Tt afitenelt @), TR I ol R $o it &), s
AR o h (adhhh) sififfma S aganufamnd e s TR @l
TR 3R BT T F M $A A rgafa &

Ans 1. 249dlE
X 2.159uE
X 3.18 9wE
X 4.30 9w

Question ID : 264330105217
Status : Answered
Chosen Option : 1




Q.5 SIIUMT 2011 ¥ AR 4t fRimgurd g 59 o182
Ans X 1. dHETg

o 2.4

X 3. BTG

X 4. 3y TR

Question ID : 264330105511
Status : Answered
Chosen Option : 2

Q6 YRAASTA A Aae Tl i, v gasiidl S U A AFT AT ]I
Ans X 1. IR IwH

X 2. TGl §a

X 3. W i garg

v 4.

Question ID : 26433066506
Status : Answered
Chosen Option : 4

Q7 ?zoooﬁwﬁwﬁmmmmﬁﬁmmw$m
?

Ans X 1. TGS
o 2. SfifsHt
X 3. BBl
X 4 TUD

Question ID : 26433064303
Status : Answered
Chosen Option : 2

Q8 1526 ¥, UFua Fr1a@ss S aa A TE A
Ans X 1.9 3R W TH

X 2. 3B AR Y,

3. TR 3R SHeH At

2 4. TR 3R 0T I

Question ID : 264330105432
Status : Answered
Chosen Option : 3

Q.9 uf P} TeiAaT BT SHUBR WA & Wi & b1 argedal A FiRka &2
Ans X 1. 3[J®5q 29 ¥ TG 30

X 2. 3fTvE 19 ¥ SfTwda 22

o 3. 3= 25 ¥ TG 28

X 4. 3TDE 14 ¥ 3JDS 18

Question ID : 26433074888
Status : Answered
Chosen Option : 3




Q.10 5 AT & dgd Aftesie Ta=k A RegT 3 wrg-siR | Iufie ardbe W (UMEED
Market Place)" T 3gure faar?

Ans X 1. HgH (KUSUM) TrerT
o 2. YRAH fAAmga TiRiaor &1 3fawR (AVSAR) ISt
X 3. Ioaa aren
X 4. %S U gfegan giom

Question ID : 264330105315
Status : Answered
Chosen Option : 4

Q.11 fyggd 3= #1 SI 3PS H
Ans X 1.9d

X 2.9

3. %a"

X 4.dfc

Question ID : 26433066452
Status : Answered
Chosen Option : 3

Q.12 fafafed # 9 5 T Aeh $1 ITW IIgRATAT AHS = Ty & frear 32
Ans X 1. 3ffeeh

2. AifgfargH

X 3.l

X 4. Ao

Question ID : 26433054313
Status : Answered
Chosen Option : 2

Q.13 Motion of an object is if its velocity is constant.

Ans X 1. only decelerating
25 2. non-uniform
«” 3. uniform

25 4. only accelerating

Question ID : 264330105470
Status : Answered
Chosen Option : 3

Q.14 The age range for the Youth Boxer category is:
Ans X 1.13 - 18 years

o 2.17 - 18 years
X 3.15-16 years
< 4.19 - 20 years

Question ID : 26433059431

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.15 Fafafa 3 @ 5 e A Reht w© gudie dem 3 ugad e fear ur?
Ans X 1. TN qaa

X 2. SATIe A @it

X 3. e U5F

& 4. 3T

Question ID : 264330105421
Status : Answered
Chosen Option : 4

Q.16 G e TSIgH Bt Ugd HY |
Ans 5 1. QST

X 2. BiosH

3. UfGH

X 4. QHTSS

Question ID : 26433087859
Status : Answered
Chosen Option : 3

Q.17 fFEfiafad d & forg yRdig TS § Wi Soqd AT ST @2
Ans X 1. gRES

X 2. TSR

3. TS

X 4. TSR

Question ID : 26433064696
Status : Answered
Chosen Option : 4

Q.18 Frafifad & & S9-91 TEarsd) (HYv) 9ie 4Rd A ela Hifd & das 822
(A) 9Tae
(B) g
Ans X 1. FAAMRAEB
& 2. AR B
X 3. Fad A

X 4.%ddB

Question ID : 26433054817
Status : Answered
Chosen Option : 2

Q.19 FEfifEd # ¥ 19 W SR IR 771 & e A $-um™ TR (NevA) sTdwH
Bl AR B T YR PI Ut fyumrayr a9 7 g2

Ans X 1.gRamn
X 2. 39"
3. IS

X 4By

Question ID : 264330105251
Status : Answered
Chosen Option : 2




Q.20 A group of ribosomes attached to mRNA is known as:
Ans ¢ 1. polysomes

25 2. monomer

25 3. polymer

< 4. polypeptide

Question ID : 26433086611
Status : Answered
Chosen Option : 4

Q.21 ‘Imperfect’ is an autobiography of:
Ans X 1. Rahul Dravid

«” 2. Sanjay Manjrekar
/< 3. Ravi Shastri
#< 4. Milkha Singh

Question ID : 26433054372
Status : Answered
Chosen Option : 3

Q.22 Which of the following is NOT an indirect tax?
Ans 1. Wealth tax

/< 2. Customs duty
/< 3. Goods and Services tax

X 4. Excise tax

Question ID : 264330105368
Status : Answered
Chosen Option : 1

Q.23 Wile ayT 7Ta 9 veht b g & o=t & urg ona 82
Ans X 1. YHEHIRIG 9

X 2. IuUGicadd WeEgR 9

X 3. <A YereeR 9

& 4. i gofordt a9

Question ID : 264330105646

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.24 2w & Frufafed & @ $19-91 @R ve gof e gar g2
Ans X 1.6-5

 2.64

X 3.53

X 4.66

Question ID : 26433059441
Status : Answered
Chosen Option : 2




Q.25 Prgfifad # A fra g A gard gge 999 uiis Ryl § A U u1?
Ans 1. FIUIIToT I

X 2. GRIHTSTOT g

< 3. AU g

75 4. dTHTSToT g

Question ID : 264330105169
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q.1 TP gHMER P TH A W 10% BT ATY BiaT 8, AP gO: (A% W 20% Ft g1 &)
STt 21 afe Y Fawii &1 erqurd 2 : 3 8, O gaa g1y wfdwra 21

Ans X 1.6%
& 2.8%
X 3.55%
K4 7%

Question ID : 26433075490
Status : Answered
Chosen Option : 2

Q.2 TH SPeR 7 80 & W T HTH W1 B &1 e fpar 3R Foa3ma # 60 TI6! HI 3R 20
fot ¥ a1e aifafvaa 20 goui #1 fAged fFar ok 19 &) w9 & sgaR g fan afe
I sifafaa geul @) i T8 far g, a}wﬁaﬁwmﬁ%ﬁqaﬁﬁmﬁ
sfafvad fo=f & smrazawar g1t (Feean guife 9@ quiffea)?

Ans X 1.32fF
X 226
X 3.30f
o 4.20

Question ID : 26433075244
Status : Answered
Chosen Option : 4




Q.3 ) fan wan g forr 7 fafim suftrn o5t fasdt ) o=ifan 31 571 it 7 Suforn &6t g st
%123%113?1%&@% Hut B faest o1 39 Tt 7 Fufral ot oo st & dedf A 5 F v
TR

P
26°

12°
P, RTYUT S Bt $ faspt Q, T AT U Ft H fast & et wfersra w97 32
Ans X 1.56.42 iR
< 2.32.32 yfa=id
X 3. 24.42 vfa=id
o 4. 46.53 Tfa=Td

Question ID : 264330105777
Status : Answered
Chosen Option : 4

ad afe & T Byst & gowa w1 egue | f3 . ° @ & Brysll @t s yoelt a1
ST T 32

Ans x 1. %’E%’E

V2 B2
X 3.9:4
K 4.3:2

Question ID : 264330105827
Status : Answered
Chosen Option : 2

Qs 1+ 8 1 8
COs — CDS8
+ —
1—cosé@ 1+cosd
Ans X' 1. 2cos @
<2 2sin@

« 3. 2cosecH
X4 2sec8

Question ID : 26433058179
Status : Answered
Chosen Option : 3




Q.6

Elﬁizxz—azg',ﬁ’f}{ﬂm Zl

xZ+a?
Ans (a* — 1)1/
K2 a
X3 (1— a4

v (a*+ DA

Question ID : 26433079988

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.7 TP GBI P 363 §RT FFUTHRI fbar o1 & o AWEd 17 It giaT 8 | od S WS B 11
g1 fauvnfora faar s &Y Auwd Far gme

Ans X 1.8
X 27
< 3.9
& 4.6

Question ID : 26433075179
Status : Answered
Chosen Option : 4

Q8 A, B % YIS F STHAUT 8, 3R C F ¥4 F epuTJurd! 81 Ufe B = 27 3
C=28WA=158, dl A=9 3R C =28 W, B JId HIvT|

Ans 281
X1 —

42

243

&2 =
25

. 275
X3 —
51

: 264
x4 22
37

Question ID : 26433063788

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.9 IfS TP FHSIVT YW BT TH 107 35° §, ot 37 BT Jidd BIoMC|
Ans 1. 90° 3R 55°

X 2.90° 3R 45°

X 3.90° 3R 35°

X 4.90° 3R 75°

Question ID : 26433074347
Status : Answered
Chosen Option : 1




W SRR F @ w9 T T @ 2

I.1002—992+ 982 — 972+ 962-952+ 942932+ __ +
222212 T HIT 4840 |

e Efens B Yoo 3 1
1R k2+_] k-_] 1<4+_] k+o jkKre—p | T
{ k%{_ k;[, UKL R
16 1
K- B
Ans X 1.%ad Il
2 2. 1T 11 et
3. Pad |
X 4. AgIAR

Question ID : 264330105967
Status : Answered
Chosen Option : 3

Qn ; tan34®
c0s?35° + cos55°.8in35°+ —— =
cotss”

Ans 1.2
< 2.3
X 3.4
X 4.1

Question ID : 26433056360
Status : Answered
Chosen Option : 1

Q12 gfga—b =2 3R a3- b3 = 80 &, I ab HT UH FTEN?
Ans X 1.-24

& 2.12

X 3.-12

X 4 24

Question ID : 26433076425
Status : Answered
Chosen Option : 2




Q13 uefafee afas wh alen & o srerr-stonr vl & o ol GaRT STed S FT ST g ¥

(100) | (100) |(100) |(100) {100) |(100)
A |75 |58 72 |68 63 73
B |82 |85 74 |36 52 65
c |e5 |58 61 63 68 75
D |84 |78 72 |73 65 68
E |78 |72 59 |63 71 72
F |74 |68 75 |82 88 86

Tt vt & 60% I 3EY AHUE 3F WIST e 9T STFr @ HEAT B
Ans X 1.4

X 23
X 3.1
& 4.2

Question ID : 26433082621

Status : Answered

Chosen Option : 1

Q.14 Tig 3! arelt Wad IS T= HH A 8, O 7, 9 3R 11 I Fyua #37 R v Rufa &

UM AUBd 3 I9dl 872
Ans X 1.95840

& 2.99795
< 3.98685
< 4.96720

Question ID : 26433079823

Status : Answered

Chosen Option : 2

Q.15 26 98l & T 3 TR AR o1 W W@ Fi 6 A1 81 ot 71 fpan auf § 98 w@d
I Ui AT 8 wRf?

Ans X 1.647TY
 2.52 7%
X 3.56 94
X 4.60Td

Question ID : 264330105673

Status : Answered

Chosen Option : 2




Q.16 A & 77 arferepT < BT gRT 6 fawa) A ure 3ip) B gl 21

o
ffwg| A | B
I 180 | 90
Q 240 | 420
R 360 | 390
S 300 | 210
vy 60 | 270
U 330 | 120
[t 6 fawat & A TUT B T T T Sih1 & o1 BT 3R AT 82
Ans X 1.20
o 2.30
X 3.50
X 4.40

Question ID : 264330105738
Status : Answered
Chosen Option : 3

Q.17 TH U9 Pt YT BI G413 4.2 .. 31 99 A 1eR Fo1at o G4 ard gad 98 W a1
T T 82

Ans X' 1. 4860913
X 2.26.409.113
o 3.38.80 9.3
X 4.20509.13

Question ID : 264330105883
Status : Answered
Chosen Option : 3

Q.18 cos x cosec X — sin x sec x T HIF T g2
Ans X 1.tan2x

3 2x
X 2 cot ?

< 3. cot 2x
& 4. 2cot 2x

Question ID : 264330105911
Status : Answered
Chosen Option : 4




Q19 i vt e TS P A sLkevn 31 T TR T R R A PR ) ek R F o i g8
T B H T AT T, 4R B R H gl gdf od ot 8 @ 9 w59 %1 8 G 21 A8 @) R
&1 =1d JId Bifam)

Ans 20 y
o 1. — IM/5EC
27

. 19

X 2. — m/sec
27

. 22

X 3. — m/'sec
27

. 23
X 4. = m/'sec
27

Question ID : 26433074730
Status : Answered
Chosen Option : 1

Q.20 TH AU SR TP IATE F! 59 God W 11% B g1 IR 34T 8, AfbT 22% HH T99 BT
IUGRT a1 8 | IYST Uf=ra a1 I1 g1 a1 82

Ans X 1.11.4% 1Y
o 2. 14.1% TH
X 3.11.4%3H
X 4.14.1% g1

Question ID : 26433065072
Status : Answered
Chosen Option : 2

Q.21 5 YU} PT 3 qo 3 kg HH §1 141 3, 99 I8 4 TP 150 kg ToI a9 TP AT B
g GO TR B 3@ 1T 8 | 7Y AT &1 91 i $e

Ans X 1.120 kg
2. 135kg
X 3.125kg
< 4.100 kg

Question ID : 26433075272
Status : Answered
Chosen Option : 2

Q22 Grafafee Ao Hes, ToEaH, 3R S AN SGs =iF wESS § F-RET (35) B A a5
il &1

s FHEE TEA EGidertls
FUAT F AT | 3o | oo | e | (3= (e | vew | T
e & 540 | 395 |450 |4255 (320 |510 |440 [310
FrerRle 34 |57 |e0 |42 |25 |0 |20 |70
Sigem @W@T 150 | 155 |120 | 125 |160 |135 |145 |170
Taft AT TEF TFEEE § Frerie F AW #r 3= 3 @ sitma fraer &

Ans 1. 334.75

X< 2.352.04
X 3.%63.21
X 4.%51.07

Question ID : 26433080058
Status : Answered
Chosen Option : 1




Q.23 g ¥4 BT $o YEHI &P 1536 m2 B | THST TIG J1d B
Ane X1 15 md

2. 4006 m°
X3 216 m?

X4 70 m3

Question ID : 26433063910
Status : Answered
Chosen Option : 2

Q.24 TP AR} 3T AT W IqP H Yo & 20% 3P Teu 3ifPpd oar 31 af a8 e
YTgh B 3Hfhd T W 20% Pt Fe <aT &, al A fra=1 @y a1 g1+ gt 8, afe #1312

Ans X 1.2% @I
o 2.4%BIH
X 3.1% Y
X 4.3% Y

Question ID : 26433075386
Status : Answered
Chosen Option : 2

Q.25 A pBc 3k ADEF %uST: Wafrm &1 9fE AB = 6 = DE, BC = 8 = EF 3R m ~B = 30° &, &Y
m 2D + m 2C $T HM T G2
Ans X 1.160°

X 2.120°
X 3.130°
& 4.150°

Question ID : 26433066250
Status : Answered
Chosen Option : 4

Section : English Comprehension

Q.1 Select the most appropriate option to fill in the blank.

This drama is extremely informative life in Roman times.
Ans X 1.on

< 2. for

< 3.0of
«” 4. about

Question ID : 26433087940
Status : Answered
Chosen Option : 4




Ans

Q.2 Select the most appropriate synonym of the given word.

Mercy

¢ 1. Clemency
25 2. Plurality
/< 3. Legacy
< 4. Clarity

Question ID : 26433060627
Status : Answered
Chosen Option : 1

Q.3 The question below consists of a set of labeled sentences. Out of the four options
given, select the most logical order of the sentences to form a coherent paragraph.
P. They are on the market already but they are costly.
Q. Their cost depends on the sort you install and the size of your home.
R. These devices extract warmth from the air or the ground, or from water - a bit like a
fridge operating in reverse.
S. Climate advisers anticipate that most homes in future will be warmed by heat
pumps.
Ans 7 1. SRPQ
/< 2. SQRP
< 3.PRSQ
& 4.RQPS
Question ID : 264330104717
Status : Answered
Chosen Option : 1
Q.4 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.
Rita will never have changed her job if she would have been promoted.
Ans X 1.shall never have
«” 2. would never have
25 3. No substitution
25 4. should never have
Question ID : 26433084574
Status : Answered
Chosen Option : 2
Q.5 Select the most appropriate synonym of the underlined word in the given sentence.
The audience was mesmerised by the speech delivered by the vivacious lady.
Ans 1. Energetic

/< 2. Prosperous
/< 3. Friendly
/5 4. Fearless

Question ID : 26433071956
Status : Answered
Chosen Option : 1




Q.6 Select the most appropriate synonym of the word Amend.
Ans 7 1. Rectify

< 2. Worsen

< 3. Impair

< 4.Harm

Question ID : 264330724438
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate synonym of the given word.
Impede

Ans X 1. Respite

< 2. Intend

«” 3. Hinder

< 4. Prompt

Question ID : 26433071835
Status : Answered
Chosen Option : 3

Q.8 Select the correct direct form of the given sentence.
Aryan told me that | knew where to find him.

Ans & 1. Aryan said to me, “You know where to find me.”
< 2. Aryan says to me, “You know where to find me.”
25 3. Aryan said to me, “You knowing where to find me.”

< 4. Aryan said to me, “You are known where to find me.”

Question ID : 264330104627
Status : Answered
Chosen Option : 1

Q.9 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

There are some monkeys / on the roof of the / carriage but Madhav / did not see them.
Ans X 1.did not see them.
< 2. carriage but Madhav
/< 3. on the roof of the

«” 4. There are. some monkeys

Question ID : 26433092270
Status : Answered
Chosen Option : 4

Q.10 Select the option that can be used as a one-word substitute for the given group of
words.

The act of washing oneself
Ans 1. Ablutions

/< 2. Bathing
/< 3. Steaming
2< 4. Solutions

Question ID : 26433071924
Status : Answered
Chosen Option : 1




Q.11 Rearrange the parts of the sentence in correct order.
Lighting has
P. to become a disrupter and
Q. become human-centric as our
R. requirements change during the day and
S. lighting has to adapt to our change in needs

Ans X 1.PSQR
< 2. QRSP
X 3.RPQS
« 4. PQRS

Question ID : 264330104667
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate collocation to fill in the blank.

Arun and his wife were ___ a baby boy after 18 years of their marriage.
Ans X 1. provided with
o 2. blessed with
/< 3. delighted with
< 4. prepared with

Question ID : 26433092091
Status : Answered
Chosen Option : 2

Q.13 Select the idiom that can correctly replace the underlined part of the given sentence.

| know she really wants the promotion, but she really_hit me below the hand by telling
the boss about my personal problems.

Ans & 1. hit me below the belt
2< 2. hit me the bricks
#< 3. hit me below the books
25 4. hit me below the bottle

Question ID : 26433060317
Status : Answered
Chosen Option : 1

Q.14 Select the option that expresses the given sentence in active voice.
The gate was opened by the peon.
Ans X 1. The peon was opening the gate.
«” 2. The peon opened the gate.
5 3. The peon is opening the gate.
/< 4. The gate was being opened by the peon.

Question ID : 26433093459
Status : Answered
Chosen Option : 2




Q.15 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

He will make mistakes, but he will learn / by making mistakes. So, dear parents, / once
you put the money in your / children’s little pockets, forget all on it.

Ans & 1. children’s little pockets, forget all on it
25 2. by making mistakes. So, dear parents,
/5 3. He will make mistakes, but he will learn

/< 4. once you put the money in your

Question ID : 26433092269
Status : Answered
Chosen Option : 1

Q.16 Select the correct passive form of the given sentence.
My parents have booked a mini-getaway for me.

Ans X 1. A mini-getaway was been booked for me by my parents.
«” 2. A mini-getaway have been booked for me by my parents.
< 3. A mini-getaway had been booked for me by my parents.

/< 4. A mini-getaway was being booked for me by my parents.

Question ID : 264330104566
Status : Answered
Chosen Option : 2

Q.17 Select the INCORRECTLY spelt word in the following sentence.
Sudhir’s harrassment is not only perceivable and occasional but also has become a
matter of humorous incident before his colleague.

Ans X 1. perceivable
< 2. Humorous
25 3. colleague

& 4. harrassment

Question ID : 26433058615
Status : Answered
Chosen Option : 1

Q.18 Select the INCORRECTLY spelt word.
Ans X 1. Warden

< 2. Engineer
#< 3. Doctor
«” 4. Poliseman

Question ID : 26433065136
Status : Answered
Chosen Option : 4

Q.19 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The art history teacher was sacked after she were thought taking school supplies.

Ans ¢ 1. she was caught
< 2. she was dumped
< 3. she was wondered

< 4. she was enlightened

Question ID : 26433088512
Status : Answered
Chosen Option : 1




Q.20 Select the most appropriate option to fill in the blank.

The trainee wanted to know the of the course to get a better understanding of
the job prospects.

Ans X 1. tall talk
5 2. bird’s eye view
¢ 3.ins and outs

& 4. crying need

Question ID : 26433070544
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Women won their present status through (1)___ and sacrifices rather than through men's
kindness. Women and their supporters have fought, and in some places continue to fight for
the same rights as (2)____. Laws were made to replace local customs which denigrated and
suppressed women's rights. Women have (3) higher positions in the world at all levels;
political, economic and social. But in reality, women still suffer from (4)____ at various levels.
For example, women work more and earn less than men. In addition to that, the majority of
the world's poor and illiterate are women. The road to real (5) is still long.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans 7 1.struggle

X 2. happiness
< 3.joy
& 4. dignity

Question ID : 26433086386
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Women won their present status through (1) and sacrifices rather than through men's
kindness. Women and their supporters have fought, and in some places continue to fight for
the same rights as (2)____. Laws were made to replace local customs which denigrated and
suppressed women's rights. Women have (3) higher positions in the world at all levels;
political, economic and social. But in reality, women still suffer from (4)_____ at various levels.
For example, women work more and earn less than men. In addition to that, the majority of
the world's poor and illiterate are women. The road to real (5) is still long.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans 1. men

& 2. everyone
< 3. universal

< 4. politicians

Question ID : 26433086387
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Women won their present status through (1)____ and sacrifices rather than through men's
kindness. Women and their supporters have fought, and in some places continue to fight for
the same rights as (2)____. Laws were made to replace local customs which denigrated and
suppressed women's rights. Women have (3) higher positions in the world at all levels;
political, economic and social. But in reality, women still suffer from (4) at various levels.
For example, women work more and earn less than men. In addition to that, the majority of
the world's poor and illiterate are women. The road to real (5) is still long.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1. plucked

< 2. gripped
< 3. snatched
& 4. gained

Question ID : 26433086388
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Women won their present status through (1)____ and sacrifices rather than through men's
kindness. Women and their supporters have fought, and in some places continue to fight for
the same rights as (2)____. Laws were made to replace local customs which denigrated and
suppressed women's rights. Women have (3) higher positions in the world at all levels;
political, economic and social. But in reality, women still suffer from (4)____ at various levels.
For example, women work more and earn less than men. In addition to that, the majority of
the world's poor and illiterate are women. The road to real (5) is still long.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1. equality

X 2. issues
o 3. discrimination

X 4. tolerance

Question ID : 26433086389
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Women won their present status through (1)___ and sacrifices rather than through men's
kindness. Women and their supporters have fought, and in some places continue to fight for
the same rights as (2)____. Laws were made to replace local customs which denigrated and
suppressed women's rights. Women have (3) higher positions in the world at all levels;
political, economic and social. But in reality, women still suffer from (4)____ at various levels.
For example, women work more and earn less than men. In addition to that, the majority of
the world's poor and illiterate are women. The road to real (5) is still long.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans & 1. equality
& 2. eligibility
< 3. maturity
75 4. probability

Question ID : 26433086390
Status : Answered
Chosen Option : 1
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